
Serbo-Croatian  

Rule interaction 

LING 451/551 Winter 2011 





Adjectival data 





Verb data 



Morphology 

• Stems 

• Suffixes (easy ones) 

– Fem: -a 

– Neut: -o 

– Plural: -i 

– 1 person sing.: -em 



What about the masculine and past 

tense? 
• Masculine forms end in either 

– C (non-alternating) 

or 

– [o]  (but always ~ [l]) 

• “Past-tense verbs all have the same 

general past-tense suffix.”   

– [ao] (~ [l] in alternant forms of the same verb) 

• Set these aside for now until more of the 

phonology is understood. 

 



Alternations to be accounted for 

• V́ ~ V 

• l ~ o 

• a ~ 0 

• s ~ z 



What to tackle first? 

• All [s]~[z] forms exhibit [a]~0 but not vice 

versa.  

– analyze [s]~[z] last 

• Often other rules refer to stress 

– analyze first 



Stress placement 

• Observation 
– predictable stress found in 2 types of forms 

• stress placement only 

– „young‟:  mlád, mladá, mladó, mladí 

• other alternating segment 

– „white‟:  béo, belá, beló, belí 

• First study stress placement in forms with no 
other alternation 
– why:  other alternations may obscure basic stress 

pattern 



Stress placement 

• In forms with no other alternating 

segments, stress placed on word final 

vowel 

– V  V́  / ___ C0#   

• Variable number of word-final Cs 

– 0:  [mladó] 

– 1:  [zelén] 



[l] ~ [o] 

• „white‟:  béo, belá, beló, belí 

• Other forms like „white‟ with no alternation 

other than stress 

– „gay‟, „fat‟, „dear‟, „tired‟ 

• Distribution 

[l]   [o] 

___V ___# 

 



[l] ~ [o] directionality 

• Suppose /l/ (L-vocalization) 

– then /l/  [o] / ___ #  

• Suppose /o/ (O-consonantalization) 

– then /o/  [l] / ___ V  

 



Deciding between O-vocalization 

and L-consonantalization 

• Simplicity 
– tie 

• Predictions about non-alternating forms 
– no incorrect predictions 

• Interaction with other rules 
– If [l]~[o] is /o/, why doesn‟t /o/ attract stress (cf. non-

alternating –[o] neuter) 
                                    /beo/ 

stress placement     ó 

                                   *[beó] 

Suggests /l/ and L-vocalization 



Rule interaction likely 

• When overlap in 

– structural description (including focus) (as in 

Squamish) 

– structural change  + structural description (as in Votic, 

Klamath) 

• Check for forms showing crucial ordering 

relationship 

• Stress placement SD (VC0#)  

– V  V́  / ___ C0# 

• L-vocalization SC (o#)  

– /l/  [o] / ___ # 



Stress placement precedes l-

vocalization 

      /bel/ 

stress placement     é 

l vocalization         o 

      [béo] 

      /bel/ 

l vocalization         o 

stress placement      ó 

     *[beó] 



Masculine, revisited 

• If [o]~[l] is /l/, then 

• [béo], [belá], [beló], [belí] is 

• /bel/, /bel-a/, /bel-o/, /bel-i/ 

no suffix in masculine 



[a] ~ 0  

• „clear‟:  [yásan], [yasná], [yasnó], [yasní] 

• Forms with same and no other alternation (other 

than stress) 

– „important‟, „tiny‟, „frozen‟, „slim‟, „short‟, „close‟, 

„narrow‟, „kind‟, „sharp‟, „alert‟  



[a] ~ 0 distribution 

[a]   0 

s__n#  s__nV 

ž__n#  ž__nV 

t__n#  t__nV 

d__n#  d__nV 

b__r#  b__rV 

t__r#  t__rV 

d__r#  d__rV 

n__k#  n__kV 

t__k#  t__kV 

 

[a]   0 

C__C# C__CV 



[a]~0 directionality 

Suppose /a/ 

 then /a/  0 /C__CV  

Suppose 0 

 then 0  [a] /C__C#  

Forms with non-alternating [a] in penult 

(e.g. [križana] „cross‟ (fem.)) indicate no 

deletion 



What is the past tense suffix? 

• Past tense masculine forms contain 

outputs of both l-vocalization, a-epenthesis 

– [tépao] „wandered‟ (masc.) 

• Past tense feminine and neuter forms 

contain [l] 

– [teplá] „wandered‟ (fem.) 

– [tepló] „wandered‟ (neut.) 

• Past tense suffix must be -/l/ 

 



[s] ~ [z]  

• „close‟:  [blízak], [bliská], [bliskó], [bliskí] 

– also [a]~0 

• Other forms with same (and no other) 

alternations 

– „narrow‟ 

• Distribution 

• [s]   [z]  

__k  __a  



[s]~[z] directionality 

• Suppose /s/ 

– Then /s/  [z] / __ V 

• Suppose /z/ 

– Then /z/  [s] / __ k (other vls obst?) 

• Predictions about non-alternating forms 

– [tresém] „shake‟ (1 sg. pres.)  

– __[e] vs. [a]?  not likely. also [yásan] 

 z-Devoicing:  /z/  [s] / __ k   (or more general 

versions of this rule) 

 



Rule summary 

• stress:  V  V́  / ___ C0# 

• L-vocalization: /l/  [o] / ___ # 

• [a]-epenthesis:  0  [a] /C__C# 

• z-Devoicing:  /z/  [s] / __ k 



Comparing structural descriptions 

                                    SD         SC 

• stress:                      VC0#  V́C0# 

• L-vocalization:          l#        o# 

• [a]-epenthesis:         CC#    CaC# 

• z-Devoicing:             zk       sk 

• Overlap in SD, including focus of rule 

– l-vocalization and a-epenthesis, a-epenthesis 

and z-devoicing 



Comparing SD, SC 

                                   SD         SC 

• stress:                     VC0#  V́C0# 

• L-vocalization:          l#       o# 

• [a]-epenthesis:         CC#   CaC# 

• z-Devoicing:             zk      sk 

• SC that meets SD of another rule (and SD 

did not) 

– stress and l-vocalization, stress and a-

epenthesis 



Potential rule interactions 

Overlap in structural description and/or structural change: 

 

   Acc place    l-vocal         a-epen     z-Devoicing 

Acc place                               SC              SC              

l-vocal                                                       SD                

a-epen                                                                        SD 

z-Devoicing     



Stress placement and l-vocalization 

• Already established: stress placement 

precedes l-vocalization 

– [béo], *[beó] „white‟ (masc.) 



A-epenthesis and stress placement 

• Potential interaction 

– stress placement SD (VC0#) 

– could overlap with 

– a-epen SC (CVC) (if __#) 

• Any actual forms? 

– [yásan] /yasn/ „clear‟ (masc.)  

 



Stress placement and a-epenthesis 

•                                 /yasn/ 

stress placement         á      

a-epenthesis                     a 

                                   [yásan] 

 

                                   /yasn/ 

A-epenthesis                    a 

stress placement             á 

                                  *[yasán] 



l-vocalization and a-epenthesis 

• Potential interaction 

– l-vocal SD (l#  o#) 

– could overlap with 

– a-epen SD (CC  CaC) when word-final) 

• Any actual forms? 

– [ustao] /ustl/ „tired‟ (masc.) 

– [múkao] /mukl/ „hoarse‟ (masc.) 



a-epenthesis and l-vocalization 

UR /mukl/     UR /mukl/                  

stress     ú       stress 

 

   ú 

a-Epen.        a          l vocal.        o  

l vocal.          o a-Epen.      -- 

[múkao] *[múko] 

Already established:  stress precedes a-epen, stress precedes l-Vocalization 



a-epen and z-devoicing 

• Potential interaction 

– a-epen SD (CC#)  

– could overlap with 

– z-devoicing SD (zk) if __# 

• Any actual forms? 

– [blízak] /blizk/ „close‟ (masc.) 



[a] epenthesis precedes /z/-devoicing  

UR /blizk/     UR /blizk/          

stress    í      stress    í 

a-Epen. 

 

     a       z-devoicing     s      

 

z-devoicing      -- a-Epen.      a 

[blízak] *[blísak] 

Already established:  stress Placement precedes a-epenthesis 



Underlying forms 
• Adjectival stems 

/mlad/ „young‟ /pust/ „empty‟ 

/bogat/ „rich‟  /bel/ „white‟ 

/vesel/ „gay‟  /debel/ „fat‟ 

/mil/ „dear‟  /zelen/ „green‟ 

/kraden/ „stolen‟ /dalek/ „far‟ 

/visok/ „high‟ /križan/ „cross‟ 

/sunč/ „sunny‟ /sveč/ „formal‟ 

/bogat/ „rich‟  /rapav/ „rough‟ 

/yasn/ „clear‟ /yažn/ „important‟ 

/sitn/ „tiny‟  /ledn/ „frozen‟ 

/tank/ „slim‟  /kratk/ „short‟ 

/blizk/ „close‟ /dobr/ „kind‟ 

/oštr/ „sharp‟ /bodr/ „alert‟ 

/ustal/ „tired‟  /mukl/ „hoarse‟ 

/obl/ „plump‟  /podl/ „base‟  



– Verb stems 
/tep/ „wander‟  /skub/ „tear‟ 

/tres/ „shake‟  /vez/ „lead‟ 

  

– Suffixes 
Fem: -/a/ 

Neut: -/o/ 

Plural: -/i/ 

1 person sing.: -/em/ 

Past: -/l/ 



Rule ordering summary 

stress 

               a-epenthesis 

l-vocalization 

    z-devoicing 

 


